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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2021-22

ECOACORO5T-EconoMIcs (CCS)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac e
Candidates should answer in their own words AT ST ST I AT TN N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
feaferiae @-cieat =5 @ Tea nies

(a) State the strong axiom of the revealed preference theory.
OIBITS 215 ©Cgd F1o7 (Strong) Fo s Fma(b @

(b) A perfectly competitive firm faces a perfectly elastic demand curve. Explain
why?

G #jefet afsriPrenE 2 7 FEfog7 pifncadm g3 21 & ¢

(c) Establish the relation between monopoly power and price elasticity of demand.

GO TNl @ bifgwig wwse e oFreor It et et

(d) What is natural monopoly?
FeF GRG0 FIAIR I#0© & QAR 2

(e) What is monopsony?
A PICE 0 2
(f) A risk averse person is offered a choice between a gamble paying Rs. 1000 with

probability 0.25 and Rs. 100 with probability 0.75 or payment of Rs. 325. Which
one would he choose?

e -y e afn 1o ey ovg @ Fiva Face =0 @i 2wfba v o
Rs. 1000 (7S 213 AR AGR 0.25 @R Rs. 100 (TS 21 ©IF TSI 0.75 @R @
CFGT (T Rs. 325 2@ 1 @I CFaf 415 463 9

(g) A consumer purchases ¢, =20, ¢, =10 at prices p, =2, p,=6. He is also
observed to purchase ¢, =18, g, =4 at prices p, =3, p,=5. Is his behaviour
consistent with the weak axiom of revealed preference theory?

@H 9FE (ol I YT ¥ @ oiq ARG e ww =@, ¢, =20, ¢, =10,
p=2, p,=61 @ @A W @ @ @ YT 77 & I AR € wH ==
q,=18, q,=4; p,=3, p,=5; 1 92 T [ (NOAYS 72T GG SAC A
o7l o

(h) What is shut-down point for a perfectly competitive firm?
stz elfscifei A @ Feh cFeg Seive aa i & 9
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2.

Answer any four questions from the following:
T @-ieal 5o @eie Ted mies

(a) Show that the market with higher price elasticity of demand will be charged a '(

lower price under third degree price discrimination.
@A (@, PO TR AN HR/FIFACH (Fd @ AGIE bifzw wiwore Ffomsimel @
GAba RN QeraETFel T3 R |

(b) Derive the short-run supply curve of a perfectly competitive firm.
itz efStifeEs AT Tk @ @2l e Fet

(c) Explain briefly the sources of monopoly power.
GFC(H! o el e Refr e bl S|

(d) Show that a monopolist will never operate in the region where the absolute value
of price elasticity of demand is less than one.

@A @ TG AFHHT FIRITE TS Teotve Faca =11 Iw pifzn wiere BfeRrer
B W AT T 2T |

(e) Does a unique supply curve exist under monopoly? Explain your answer.

GBI TR @ [ @ @2 AT [ 2 Tewa 9 I TS|

(f) Show that the marginal expenditure will be higher than average expenditure for a
monopsonist facing a linear supply curve.
@Ae @ @ ‘@H2Prs’-93 difeF I3, 9% JT A @ 7@ IM @9 @I
MEGGIESIEN

Answer any two questions from the following:

fasfrie - 76 et Teqwies
(a) Show that substitution effect is negative using the Weak axiom of ‘Revealed
Preference’ theory.

(AT AR Sed 1361 05 PTa-93 B (T (@ AT 2o effer 2|
(b) How can you derive the supply curve of labour and explain why the curve may
have a backward bending section.
AT @9 @l el Tl @R FIIPR (wAe @ @A 63 209 #AIe |
(c) Write short note on the following:
(1)  Adverse selection
(i) Moral Hazard
oo 76 A Bl =eane
(i) efogs feioa
(i) e fwife
(d) Derive the long-run supply curve of a perfectly competitive increasing cost
industry.
e eforaferee AwE RgwE @ @it [ F@ 739 Febre R
9-93 R[fe S Wiz

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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